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QUESTION 1

Which combination of subsystem parameter values will enable connection pooling for idle distributed database access
threads?

A. Specify subsystem parameter CMTSTAT = ACTIVE and set CONDBAT = MAXDBAT.
B. Specify subsystem parameter CMTSTAT = INACTIVE and set CONDBAT

C. Specify subsystem parameter CMTSTAT = ACTIVE and set CONDBAT > MAXDBAT.
D. Specify subsystem parameter CMTSTAT = INACTIVE and set CONDBAT >MAXDBAT.

Correct Answer: C

QUESTION 2

Which copy operation CANNOT be performed by DSN1COPY?
A. DB2 concurrent copies to DB2 VSAM data sets.

B. DB2 image copy data sets to DB2 VSAM data sets.

C. DB2 VSAM data sets to other DB2 VSAM data sets.

D. DSN1COPY sequential data sets to other sequential data sets.

Correct Answer: A

QUESTION 3

The ALTER BUFFERPOOL command specifying the AUTOSIZE(YES) option enables DB2 to use WLM services to fine
tune the buffer pools.

What is the result of issuing this ALTER?

A. The immediate write threshold can be increased by 25%.

B. A pool size can be increased by up to 25% over original pool size.

C. The pool size can be increased in 25% increments base on sequential read hit ratio.
D. Depending on the type of I/O performed, pool size can be increased or decreased.

Correct Answer: B

QUESTION 4

You received the following error message:
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DSNI012I -DB2A PAGE LOGICALLY BROKEN TYPE 00000302 NAME DBXX.TSYYY.X\\'00045065\\' DBID01B5
OBID0020 PAGE RBA OR LRSN CCA7C9FF11C4 LOG RECORD RBA OR LRSN CCA7C9FF1B78 MODNAME
DSNIOLIN ERQUAL 0000

Which utility be used to obtain more information about what may be triggering this message?

A. DSN1CHKR

B. CHECK DATA

C. DSN1COPY, PARM=\\WCHECK\'

D. DIAGNOSE DISPLAY ODB DBXXTSYYY ALL

Correct Answer: D

QUESTION 5

What will occur if the parameter PAGE PROTECT is set to YES?

A. MSTR log buffers (OUTBUFF) will be placed in page-protected storage.

B. IRLM is to load its common storage modules into page-protected storage.

C. DIST buffers related to TCPIP connectivity are loaded into page-protected storage.

D. DBM1 pages belonging to a buffer pool defined with PGFIX(YES) will be placed in page- protected

Correct Answer: D

QUESTION 6

Which statement regarding DSN1LOGP is FALSE?

A. DSN1 LOGP does not require DB2 privileges.

B. DSN1 LOGP runs on archive data sets when DB2 is running.

C. DSN1 LOGP can read logs that have been compressed by DFSMS.

D. DSN1 LOGP can print the log records for both base and clone table objects.

Correct Answer: C

QUESTION 7
When might image copies be needed in a data mirroring environment during disaster recovery?
A. To resolve outstanding units of recovery.

B. If the RBA in the BSDS is higher than the RBA in the active log.
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C. Image copies would never be needed when using data mirroring.
D. If a LOAD or RECOVER utility was active at the time of the disaster.

Correct Answer: A

QUESTION 8

One of your applications is experiencing long elapsed times. You notice from DB2 accounting data that 90% of the class
2 elapsed time consists of class 3 suspension time.

Which statement describes the behavior of the application?

A. The application is the victim of excessive performance tracing.

B. The application spends the majority of its time waiting on the network.

C. The application contains complex SQL statements that are CPU intensive.

D. The application spends the majority of its time waiting for buffer pool 1/0 and log /0.

Correct Answer: C

QUESTION 9

Which DB2 catalog or directory table space CANNOT be reorganized?
A. DSNDB01.SCT02

B. DSNDBO01.SYSUTILX

C. DSNDB06.SYSTSCPY

D. DSNDB06.SYSTSPDO

Correct Answer: D

QUESTION 10

In order to guarantee complete security for your DB2 subsystem, which statement is correct?

A. BSDS and catalog VSAM data sets should always be protected by the SYSADM authority.

B. BSDS and catalog VSAM data sets should always be protected by the MSTR address space.
C. BSDS and catalog VSAM data sets should always be protected by an external security profile.
D. BSDS and catalog VSAM data sets should always be protected by the BSDS system privilege

Correct Answer: C
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